18 3

(11) G =A*a a= 1.087 3Uu/1, =~ W/ 1,
«“ a ( 11)7 « »
2 (pwf>2~ ¢ b
B, (D (11), G ~ 2qup/(Bgl bl) (12)
a= 1.087 3 =~ 1,
1 [ kil
A Pr qw B b
(10°m%) [(10*m®) | ¢ | (MPa) |(m¥d) ¢ (MPa2/d) 1
H16 1. 90 2.22 0.8 | 46.141 | 579.8 [0.003083| - 3.60
Y72 1. 98 1.83 | 1.08 [ 36.792 [ 578.70 |0.003 416| - 2.51
H27 4. 10 3.51 | 1.17 |57.998 | 724.5 |0.002758| - 5.04
E12 1. 20 1.00 | 1.20 | 49.522 | 478.70 [0.003009| - 7.80
YOl6| 0.58 0.51 |1.14 [50.721 | 362.90 |0.002870| - 11.49
H11 0.33 0.48 | 0.69 | 27.884 |349.50 [0.003800| - 2.98
2.
« » 7 ES 1995 11 6 ,1996 1 1
E8 S10 H30 3 , , 9% 1 1 ~
7 1996 4 30 .
8 , (pi)= 47.729 MPa
1. » (g)=979.6m/d (p,)>~t (b)y= - 2.763
E8 1978 12 28 L1979 12 14 7 (Bg)= 0.003137 2 (12),
, 3 110. 44 m, ES 5.15% 10%m?
5040 m?, , 0. 29 x
1995 6 20 3110.44 m, 10°m”, 5.39%
195 7 12 76 mm
3 082. 18 m, 39m? , 75 m?, 2 h, ( )
1872m®> 1995 11 6
, 105% 10* kW ( 35% 10* kW ),
13—1 ,
(CLP)
17. 5% , (
) 36% , Kanematsn 29%
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